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1. AR A A o] 1 =) 97,000 27,000 70,000
1. F A e 97,000 27,000 70,000
17124 AN A A = 97,000 27,000 70,000
(FdHBH_35)2024 WEHTHAET AUA S 29
et g5 £ YA B RO 97,000 27,000 70,000 70,000,000
e EWwRF[H] : 70,000,000 = 17]n =
2. A5 g 7] o] [ 5=<) 1,536,588| 1,572,433| -35,845
1. WS S ARG =54 1,536,588| 1,572,433 -35,845
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Jhal = ’
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(A HH_3F) T2 AR Al
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1. g Rk=8H 12,649 12,649 0
2.98H 8,740 8,740 0
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4. B FE 4] 9,090 9,090 0
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2.3t B 91 A e 19,793 22,850 -3,057
1.HEE0e | 9,913 12,970|  -3,057
1. d¥kEgH 9,913 12,970 -3,057 | =7] EH] ¢ -3,057,0009= -3,057,000
2. 371424 880 830 0
1. dnkpgn) 880 880 0
3.9 7 9,000 9,000 0
1. dnkpgn) 6,990 6,900 90371887191 (B7452) © 90,0009= 90,000
2. 47 03 2,010, 2,100 _go| 71BN EBATIRT(REHH) -90,000
-90,000¢1=
4.3 EA 94,277| 94,117 160
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2.8 BT 24,606 24,446 160
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1.8t 52 ) 50,110 50,110 0
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1.7 g5 218,974| 243,959 -24,985
1. w¥gs A9 3,379 6,380|  -3,001
1. 54592 460 1,000 -540
1.71e59 460 1,000 -540| AT 1 540,000 = -540,000
2. 7% HEA R 0 2,150 2,150
1. 71k 0 1,750 -1,750 | SFH AN (54 8kar) ¢ - 1,750,000 = -1,750,000
2.0 5%&qH| 0 400 -400| A FLYH] © - 400,0009 = -400,000
3.475¢49 2,719 2,730 -11
1.9 Rk=8-] 289 300 1Y SYEEFTY 0 -11,0009= -11,000
2. g 2,080 2,080 0
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4. WIE NI FY 200 500 -300
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2,570 wEE 600 600 0
1. 079 300 300 0
1. 0520 300 300 0
2.8 5FEHEX Y 300 300 0
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3413 wtEE 1,975 1,975 0
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1. A& 1,500 1,500 0
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1. 23 300 300 0
1853 % 300 300 0
5.33F wHdE 2,000 2,000 0
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8.9]5o] widF 300 300 0
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2. 05| 2,000 2,000 0
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2. 85N EX Y 2,516 2,516 0
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1. 9Wk=4n) 3,400 3,400 0
4. AFAEF7IAA A 22,372 42,500 -20,128
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1] Z 75m] 22,372) 42,500 20,128 (VEAD AN AN TR ~20,000,000
20,000,000¢] =
(FHAEAHSZAEY] 9 2% 79[5] ~128.000
© -128,000¢) =
5.54 3k v AF73ALY 89,000 89,000 0
1.71el3 23,370 23,256 114 | NEZFAR] [ 5] 2 38,0009 #3A] 1= 114,000
2. Auk<EH| 17,451 18,270 -819| YA F7atd 4=n] [ 5] : -819,0009= -819,000
3. x99 6,314 6,084 230 | L] F-7ZAM] [ =] @ 230,0009) = 230,000
4.0]H] 7,036 7,202 -166 | &40 [ 5] : -166,0009 = -166,000
5. 058 30,031 29,188 843 | A H AW [5] : 843,000 = 843,000
6. F AT G H-F311] 4,798 5,000 -202| QFFFR[E] 1 -202,0009= -202,000
6. AAATESAR AR LN 11,132 11,132 0
1. 32 9] 2] n) 615 680 65| WA} EFAR ARG [E] 65,0009 = -65,000
2. 058 2,577 0 2,577\ k&% I 5] ¢ 2,577,0009%13]= 2,577,000
3.8 B2 H] 7,940 10,452 -2 512|848 EFARAGN[E] 0 -2,512,0009= -2,512,000
Z ] A F A=A O 3L
Z}] 74]1266 =49 e‘_l‘g‘ﬁ 7’040 71040 0
1. 0S58gn 7,040 7,040 0
8. A H 7MY A 7,777 7,777 0
1.718 % 6,800 6,800 0
2. 059y 589 589 0
3. HAAII A FF31] 388 388 0
9.2 B A F L 18,913 19,633 -720
A 1 ATFREAN (AE)
1. 9w gn) 1,700 2,000 _30| £ B 7IAAN bR AN (4F) ~300,000
-300,0009=
2.07H] 1,600 1,600 0
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11 EEdEn 6,500 6,500 0
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3.8 ET4H| 5,290 5,290 0
12. 7] A A L 293 10,050 10,050 0
1. 05 H| 5,126 5,126 O HPAAFARE FJ A + 341,0009= 341,000
Z1ZAA A (71A]) ¢ -341,00099= -341,000
2. B FE 4] 4,924 4,924 0
13. 41595 AHA 9 5,700 5,700 0
1.7]ebpd 1,330 1,330 0
2.0 5$FH| 4,370 4,370 0
2.4 APes 73,404| 86,777 -13,373
12885 9,241 10,247|  -1,006
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